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1304
B.Com. (First Year) EXAMINATION, 2019
A.B.S.T
Paper - 11
(BUSINESS STATISTICS)

Time: Three Hours
Maximum Marks: 100

PART - A (@78 — 3]) [Marks: 20]
Answer all questions (50 words each).

All questions carry equal marks.

v g SifFardt &1 gid FIT BT STV 50 Js) W b T 8/
v geI P 3p THT 8/
PART - B (Gvs — §) [Marks: 50]

Answer five questions (250 words each).
Selecting one from each unit. All questions carry equal marks.
URF §HIE W YH—VF J97 g0 §Y, T G J7 BIory |
g 97 BT GOV 250 ] W EE T &/
T g @ 3F THT 8/
PART - C (gvs — &) [Marks: 30]

Answer any two questions (300 words each).

All questions carry equal marks.

P qF JoT FNTT | T&db F97 BT STV 300 T W 3fed 7 51/
vl gogl b b THIT &
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PART - A / gvs —

Would you call the following as data? Give reason -

(i) A secured 60 percent marks in Income Tax where, B secured 70 percent and

C secured 80%.

(i1)) Govind secured 60 percent marks in Auditing and he is 1.80 metre tall.

T MU fa=ferRad bl THP HeI? BRI Sy —

(i) 31 7 3MmIAR H 60 Hfed e urd fby, S/Efs 9 7 70 ufoera @=m 1 9 80

gfererd afe e by |

(i) Mfa 3 3iberor H 60 Ufrerd 3id Ut fHT e a8 1.80 Mex oIH T B |

What is difference between Schedule and Questionnaire?

Al UG URAEell § o iR 27

In a series if mean is 5 and G. M. is 4. What will be HM.?

Ife FHE 20N BT FHR A 5 IR UK AT 4 8, A1 SIS A G DIy |
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(d) What is formulae of Karl Pearsons coefficient of Skewness?

FTet AT & AT Tone &1 3 T 27

(e) What is maximum positive value of co-efficient of correlation?

HE ] IOTd &1 AfHad ecAS Jed a1 BT 27°

(f) Basic regression equation of Y on X (method of least squares) is...............

<IATH AT & TR THTEET X@TY R X BT A THDT Do

(g) Which type of errors arise in construction of index numbers?

BTl D o § DId—bl- A fayw afed & qadl &7

(h) What is correct mathematical model in analysis of time series?

Pl ol & fageryor & W& T ufawy @ 87

(1) What is Poisson distribution and where it is applicable.

RIS fIaRoT /T 8 QIR Ug B IraRAT H U ST 27

(j) If X =20 and 6 = 4 of Binomial distribution, then P equal to..............

Ife U fgue de= &1 qrey 20 T vHY e 4 8, ol P T #H 8NM...........
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PART-B / s — §

UNIT -1/ 18 — 1

Q.2 In a sample study about the coffee habits in two towns, following information
received —
Town - A : Males were 60%, Total coffee takers were 40% and Female non-coffee
takers were 25%.
Town — B : Males were 70%, Male non-coffee takers were 30% and Female coffee
takers were 20%.

Put the data in a concise tabular form.

U Ufdaad ey S {6 a1 wexi § ol 09 &1 3ed oibe @ fore fham Tan, & awae

# f=fafad @ & -

FER — 3 : YOI 60 WA, FHf Bl N arel 40 Ufaerd ud REAT Sl diw! el Uil o,
25 Gfererd |

T} — 9 : oY 70 WICEId, GOY Sl Bl el Uit o 30 fcrerd vd Rl S el el o,

20 Yfcrerd |
SWRIF] AHD! DI Al AR & WY § UK DI |

OR / 3dr

Define statistics and explain the function and importance of statistics.

ARG DY BT TRITHT, BRI dT A8 BT AV |
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UNIT -I1/ 18 — 11

Q.3 Calculate mean, median and mode from the following data -

=T ¥l ¥ AR A1, Hegehl oIl 9getd Bl 0T HITTg —

Central Size: |5 |15 |25 |35 |45 |55 |65 |75

Frequency : |15|20 (25 |24 |12 |31 |71 |52

Comment on the suitability of the average.

AT 1 SuYdaar W fewofl Sifey |

OR /31eqar

State relationship between Mean, Geometric Mean and Harmonic Mean.

AR, UIRIR oI SRS Aed] BT T qarsy |

UNIT -II1 / $1s —III

Q.4 The following table gives the distribution of the total population and those who are
wholly or partially blind among them. Find out if there is any relation between age and

blindness -

71 ARV ot ST T SHH | quidar A1 i WU W S JAfddl 1 faaRer qaerd]

2| A% Mg SR T & di9 Al B Fe—= 71, a1 S1d Hifeig —

Age 0-10 | 10-20 |20-30 |30-40 |40-50 |[50-60 |60-70 |70-80

No. of Persons | 100 | 60 40 36 24 11 6 3
(in’000)

No. of blinds 55 40 40 40 36 22 18 15
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Q.5

OR /3741

From the following given class-frequencies prepare a Nine-square Table. Compute
Yule’s coefficient of association and interpret the result -

e ger arf—agierll | ue Ai—awf difereer GAR DI SR g B U o7
TR HIY 3R YROTT Pl AR P —

(A) =380, (C)=1120, (AB) =280, (B)=1150

UNIT -1V / 5&18 =1V

Construct the value and quantity index for Laspeyre’s, Paasche’s and Fisher’s from the

following data -

FrR=IfeTRad el & UTel, o qudR dor fheR & Jea T1 A3 Jadhidh Sd DI —

Commodities Base Year Current Year
Price | Quantity | Price | Quantity
A 5 25 6 30
B 10 5 15 4
C 3 40 2 50
D 6 30 8 35
OR /31a1

What is time series? What are the components of time series? Explain the various
methods of estimating the secular trend of time series.

PTA—S0 RIT 87 BIa—A0 & PIF—dbIF F FUCH B o° Bl BIA—20 H IuAfT A
1 fafer=T fafdl &1 T HIRY |
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UNIT -V / &S5 —V

Q.6 In a random arrangement of the letters of the word “MATHEMATICS” find out the

Q.7

Q.8

probability that all the consonants come to-gether.

“MATHEMATICS” 915 & 31eRi ¥ §99+ dTel ¥e&l | (A @ & UIRddT S1d I,

foras ) o Are—3e 8 |

OR /31eqar
There are 10 balls in a bag, 6 white and 4 black. Three balls are drown successively
without replacement. What is the probability that they are alternatively of different

colour?

T Jof H f/eT 10 Te €, STH A 6 DS, 4 Ploil ¢ | [I41 gfRemmT & 3 IS Uh—Vd PR
feTell TS | 9! T FUTeaT & b 1= Tb—Ueb xR i~ M & % frepeiil?

PART-C / Hts — 9§

Distinguish between Primary and Secondary data. Examine the critically the important

methods of collection of primary data.

TS e fgeliy FHal H R W PINY | UIAfd FHl & AU & & Afadl &l

JMATIHD IR & \LYIQ|

Calculate Bowley’s coefficient of Skewness from the following data -

T |HDI ¥ qrSel @ [J9HAT UM I 0T DIy —

Roll No. 1 2 3 4 5 6 7

Marks 20 | 28 | 40 | 12 | 30 | 15 | 50
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Q.9 Given the bivariate data -

feox gHs feu gu & —
X |1 5 3 2 1 1 7 3
Y |6 1 0 0 1 2 5

(a) Find the regression line of Y on X and hence predict Y, if X = 10.

(b) Find the regression line of X on Y and hence predict X, if Y = 2.5.

@) Y@ X W GAHEHT @ U BT g Y Fid diforg, afe X = 10 & |

@ XY W UHEHA T U BT T X 1 BT, afes Y = 2.5 &1

Q.10 Fit a straight line trend by method of least squares. Find the estimated income for

2015 -

<AqH I Al ¥ WRd W@ U UG BN 2015 H Qd Hfedd IMA BN HRIRT

P —

Years

2006

2007

2008

2009

2010

2011

2012

2013

Income (‘000 %)

38

40

65

72

69

60

87

95

Q.11 Write a critical note on the role of normal distribution in statistics.

IR F T fIadRT & INTeE R TP AHeds ool foaRay |
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